APPLICABLE ANALYSIS AND DISCRETE MATHEMATICS

available online at http://pefmath.etf.rs

APPL. ANAL. DISCRETE MATH. 4 (2010), 45–53.

 ${\rm doi:} 10.2298/{\rm AADM} 100126011{\rm K}$

ON FUNCTIONS OF ARAKAWA AND KANEKO AND MULTIPLE ZETA VALUES

Markus Kuba

We study two functions $\xi_k(s)$ and $\xi_{k_1,...,k_r}(s)$ introduced by Arakawa and Kaneko [Nagoya Math. J., **153** (1999), 189–209] and relate them with (finite) multiple zeta values and multiple zeta star values using elementary methods. In particular, we give an alternative proof of a result of Ohno [Y. Ohno: J. Number Theory, **74** (1999), 39–43].

1. INTRODUCTION

Let $\text{Li}_{k_1,\dots,k_r}(z)$ denote the multiple polylogarithm function defined by

$$\operatorname{Li}_{k_1,\dots,k_r}(z) = \sum_{n_1 > n_2 > \dots > n_r \ge 1} \frac{z^{n_1}}{n_1^{k_1} n_2^{k_2} \dots n_r^{k_r}},$$

with $k_1 \in \mathbb{N} \setminus \{1\}$ and $k_i \in \mathbb{N} = \{1, 2, \ldots\}$, $2 \le i \le r$, and $|z| \le 1$. For z = 1 the multiple polylogarithm function $\text{Li}_{k_1, \ldots, k_r}(1) = \zeta(k_1, \ldots, k_r)$ simplifies to a multiple zeta value, sometimes also called multiple zeta function, where $\zeta(k_1, \ldots, k_r)$ and $\zeta_N(k_1, \ldots, k_r)$ denote the (finite) multiple zeta value defined by

$$\zeta(k_1, \dots, k_r) = \sum_{n_1 > n_2 > \dots > n_r \ge 1} \frac{1}{n_1^{k_1} n_2^{k_2} \dots n_r^{k_r}},$$
$$\zeta_N(k_1, \dots, k_r) = \sum_{N \ge n_1 > n_2 > \dots > n_\ell \ge 1} \frac{1}{n_1^{k_1} n_2^{k_2} \dots n_r^{k_r}},$$

²⁰⁰⁰ Mathematics Subject Classification. 11M06, 40B05.

Keywords and Phrases. Multiple zeta values, finite multiple zeta values, multiple zeta star values, finite stuffle identity.

with $k_1 \in \mathbb{N} \setminus \{1\}$, and $k_2, \ldots, k_r \in \mathbb{N}$ for the infinite series and $N, k_1, \ldots, k_r \in \mathbb{N}$ for the finite counterpart. Arakawa and Kaneko [3] introduced and studied the functions $\xi_k(s)$ and $\xi_{k_1,\ldots,k_r}(s)$, defined by

Markus Kuba

$$\xi_k(s) = \frac{1}{\Gamma(s)} \int_0^\infty \frac{t^{s-1}}{e^t - 1} \operatorname{Li}_k(1 - e^{-t}) dt,$$

$$\xi_{k_1, \dots, k_r}(s) = \frac{1}{\Gamma(s)} \int_0^\infty \frac{t^{s-1}}{e^t - 1} \operatorname{Li}_{k_1, \dots, k_r}(1 - e^{-t}) dt,$$

respectively, being absolutely convergent for $\Re(s) > 0$. Arakawa and Kaneko related $\xi_k(s)$ and $\xi_{k_1,\dots,k_r}(s)$ for several choices of $s \in \mathbb{C}$ and $k_1,\dots k_r \in \mathbb{N}$ to multiple zeta values. Ohno [14] applied his generalization of the duality and sum formulas for multiple zeta values to the result obtained by Arakawa and Taneko for $\xi_k(n)$ in order to express $\xi_k(n)$ for positive integers n in terms of so-called multiple zeta star values or non-strict multiple zeta values. Arakawa and Taneko [3] posed several questions concerning the function $\xi_{k_1,\dots,k_r}(s)$. In particular, they asked for evaluations of $\xi_{k_1,\dots,k_r}(s)$ to multiple zeta values, for $k_1,\dots,k_r \in \mathbb{N}$ and $s \in \mathbb{C}$. We answer this question for arbitrary $k_1,\dots,k_r \in \mathbb{N}$ and positive integers n by providing evaluations of the function $\xi_{k_1,\dots,k_r}(n)$ to multiple zeta (star) values. In particular, we reobtain Ohno's result for $\xi_k(n)$, giving an alternative short and self-contained proof.

For the evaluation of the general case $\xi_{k_1,\ldots,k_r}(n)$ we use a finite version (see for example [9]) of the well known stuffle identity for multiple zeta values [7]. Subsequently, we will use a variant of (finite) multiple zeta values, called multiple zeta star values or non-strict multiple zeta values $\zeta_N^*(k_1,\ldots,k_r)$, which recently attracted some interest, [2, 14, 16, 15, 11, 13, 10, 17] where the summation indices satisfy $N \geq n_1 \geq n_2 \geq \cdots \geq n_r \geq 1$ in contrast to $N \geq n_1 > n_2 > \cdots > n_r > 1$, as in the usual definition (1),

$$\zeta_N^*(k_1,\ldots,k_r) = \sum_{N > n_1 > n_2 > \cdots > n_r > 1} \frac{1}{n_1^{k_1} n_2^{k_2} \ldots n_r^{k_r}},$$

with $N, k_1, \ldots, k_r \in \mathbb{N}$. Note that multiple zeta star values are frequently used in particle physics and are called harmonics sums in this context. Various properties and algorithmic aspects of multiple zeta star values have been considered in [4, 6]. The multiple zeta star value can be converted into ordinary finite multiple zeta values by considering all possible deletions of commas, e.g.

$$(1) \zeta_N^*(k_1, \dots, k_r) = \sum_{h=1}^r \sum_{\substack{1 \le \ell_1 \le \ell_2 \le \dots \le \ell_{h-1} \le r}} \zeta_N \left(\sum_{i_1=1}^{\ell_1} k_{i_1}, \sum_{i_2=\ell_1+1}^{\ell_2} k_{i_2}, \dots, \sum_{i_h=\ell_{h-1}+1}^r k_{i_h} \right);$$

note that the first term h=1 should be interpreted as $\zeta_N\left(\sum_{i_1=\ell_0+1}^r k_{i_1}\right)$, subject to $\ell_0=0$. The notation $\zeta_N^*(k_1,\ldots,k_r)$ is chosen in analogy with AOKI and OHNO [2]

where infinite counterparts of $\zeta_N^*(k_1,\ldots,k_r)$ have been treated. First we will study the instructive case of $\xi_k(n)$, reproving the result of Ohno. The main results of this work concerning the evaluation of $\xi_{k_1,\ldots,k_r}(n)$ into multiple zeta (star) values will be stated in Theorems 2, 3, 4.

2. AN ALTERNATIVE PROOF OF OHNO'S EVALUATION

Ohno evaluated the sum $\xi_k(n)$ for $k, n \in \mathbb{N}$ by an application of his generalization of the duality and sum formulas for multiple zeta values to a result of Arakawa and Kaneko [3]. He obtained the following result.

Theorem 1. (Ohno [14]) The function $\xi_k(n)$ is for arbitrary $k, n \in \mathbb{N}$ given by

$$\xi_k(n) = \sum_{m_1 \ge m_2 \ge \dots \ge m_n \ge 1} \frac{1}{m_1^{k+1} m_2 \dots m_n} = \zeta^*(k+1, \{1\}_{n-1}).$$

Note that one can convert the multiple star zeta value above into ordinary multiple zeta values according to (1) (with respect to the corresponding relation for infinite series), or can directly simplify the multiple zeta star value using (cycle) sum formulas, see e.g. Ohno and Wakabayashi [16] or Ohno and Okuda [15].

In the following we will give a short alternative and self-contained proof of Theorem 1. In order to evaluate $\xi_k(n)$ for $k, n \in \mathbb{N}$ we only use the two basic facts stated below.

(2)
$$\frac{1}{\Gamma(n)} \int_0^\infty t^{n-1} e^{-t\ell} dt = \frac{1}{\ell^n}, \quad \text{for} \quad \ell, n \in \mathbb{N},$$

$$\sum_{\ell=1}^n \binom{n}{\ell} \frac{(-1)^{\ell-1}}{\ell^r} = \zeta_n^*(\underbrace{1, \dots, 1}) = \zeta_n^*(\{1\}_r) \quad \text{for} \quad r \in \mathbb{N}.$$

The second identity can be immediately deduced by repeated usage of the formula $\binom{n}{k} = \sum_{\ell=k}^{n} \binom{\ell-1}{k-1}$. We proceed as follows.

$$\xi_k(n) = \frac{1}{\Gamma(n)} \int_0^\infty \frac{t^{n-1}}{e^t - 1} \operatorname{Li}_k(1 - e^{-t}) dt = \frac{1}{\Gamma(n)} \int_0^\infty t^{n-1} e^{-t} \sum_{m \ge 1} \frac{(1 - e^{-t})^{m-1}}{m^k} dt.$$

We expand $(1-e^{-t})^{m-1}$ by the binomial theorem and interchange summation and integration. According to (2) we obtain

$$\xi_k(n) = \sum_{m \ge 1} \frac{1}{m^k} \sum_{\ell=0}^{m-1} {m-1 \choose \ell} \frac{(-1)^\ell}{\Gamma(n)} \int_0^\infty t^{n-1} e^{-(\ell+1)t} dt$$
$$= \sum_{m \ge 1} \frac{1}{m^k} \sum_{\ell=0}^{m-1} {m-1 \choose \ell} \frac{(-1)^\ell}{(\ell+1)^n}.$$

Since $\binom{m-1}{\ell}=\binom{m}{\ell+1}\frac{\ell+1}{m},$ we get according to (2) after an index shift Theorem 1.

3. THE GENERAL CASE

We obtain the following result for $\xi_{k_1,\ldots,k_r}(n)$, generalizing Theorem 1.

Theorem 2. For arbitrary $k_1, \ldots, k_r, n \in \mathbb{N}$ the function $\xi_{k_1, \ldots, k_r}(n)$ is given by

$$\xi_{k_1,\dots,k_r}(n) = \sum_{n_1 \ge 1} \frac{\zeta_{n_1}^*(\{1\}_{n-1})\zeta_{n_1-1}(k_2,\dots,k_r)}{n_1^{k_1+1}}.$$

Proof. By definition we have

$$\xi_{k_1,\dots,k_r}(n) = \frac{1}{\Gamma(n)} \int_0^\infty \frac{t^{n-1}}{e^t - 1} \operatorname{Li}_{k_1,\dots,k_r}(1 - e^{-t}) dt$$
$$= \frac{1}{\Gamma(n)} \int_0^\infty t^{n-1} e^{-t} \sum_{\substack{n_1 > n_2 > \dots > n_r > 1}} \frac{(1 - e^{-t})^{n_1 - 1}}{n_1^{k_1} n_2^{k_2} \dots n_r^{k_r}} dt.$$

Proceeding as before we expand $(1 - e^{-t})^{n_1 - 1}$ by the binomial theorem and interchange summation and integration. We get

$$\xi_{k_1,\dots,k_r}(n) = \sum_{\substack{n_1 > n_2 > \dots > n_r \ge 1 \\ n_1 > n_2 > \dots > n_r \ge 1} \frac{1}{n_1^{k_1} n_2^{k_2} \dots n_r^{k_r}} \sum_{\ell=0}^{n_1-1} \frac{(-1)^{\ell} \binom{n_1-1}{\ell}}{\Gamma(n)} \int_0^\infty t^{n-1} e^{-(\ell+1)t} dt.$$

According to (2) we obtain

$$\xi_{k_1,\dots,k_r}(n) = \sum_{\substack{n_1 > n_2 > \dots > n_r \ge 1}} \frac{\zeta_{n_1}^*(\{1\}_{n-1})}{n_1^{k_1+1}n_2^{k_2}\dots n_r^{k_r}} = \sum_{\substack{n_1 \ge 1}} \frac{\zeta_{n_1}^*(\{1\}_{n-1})\zeta_{n_1-1}(k_2,\dots,k_r)}{n_1^{k_1+1}}. \quad \Box$$

Next we will evaluate $\xi_{k_1,\ldots,k_r}(n)$ into multiple zeta values. In order to do so, we are going to evaluate the product $S = S_{n_1}(n, k_2, \ldots, k_2)$ of finite multiple zeta (star) values, defined by

$$S = S_{n_1}(n, k_2, \dots, k_2) = \zeta_{n_1}^*(\{1\}_{n-1})\zeta_{n_1-1}(k_2, \dots, k_r)$$

into sums of finite multiple zeta values of the forms $\zeta_{n_1-1}(\mathbf{f})$, and $\frac{1}{n_1^\ell}\zeta_{n_1-1}(\mathbf{f})$, for some $1 \le \ell \le n-1$ and $\mathbf{f} = (f_1, \dots, f_j)$, with $f_i \in \mathbb{N}$, $1 \le i \le j$ and $1 \le j \le n+r-2$. By (1) we can write $\zeta_{n_1}^*(\{1\}_{n-1})$ in terms of ordinary finite multiple zeta values

$$\zeta_{n_1}^*(\{1\}_{n-1}) = \sum_{h=1}^{n-1} \sum_{1 \le \ell_1 \le \ell_2 \le \dots \le \ell_{h-1} \le n-1} \zeta_{n_1} (\ell_1, \ell_2 - \ell_1, \dots, n - \ell_{h-1} - 1),$$

for example $\zeta_{n_1}^*(\{1\}_3) = \zeta_{n_1}(3) + \zeta_{n_1}(1,2) + \zeta_{n_1}(2,1) + \zeta_{n_1}(1,1,1)$. We can convert finite multiple zeta values $\zeta_N(a_1,\ldots,a_r)$ into finite multiple zeta values $\zeta_{N-1}(b_1,\ldots,b_s)$ by

$$\zeta_N(a_1,\ldots,a_r) = \zeta_{N-1}(a_1,\ldots,a_r) + \frac{1}{N^{a_1}}\zeta_{N-1}(a_2,\ldots,a_r).$$

Consequently, we can express the product $S = \zeta_{n_1}^*(\{1\}_{n-1})\zeta_{n_1-1}(k_2,\ldots,k_r)$ of finite multiple zeta (star) values in the following way.

(3)
$$S = \sum_{h=1}^{n-1} \sum_{1 \le \ell_1 < \ell_2 < \dots < \ell_{h-1} < n-1} \zeta_{n_1-1} (\ell_1, \ell_2 - \ell_1, \dots, n - \ell_{h-1} - 1) \zeta_{n_1-1} (k_2, \dots, k_r) + \sum_{h=1}^{n-1} \sum_{1 \le \ell_1 < \ell_2 < \dots < \ell_{h-1} < n-1} \frac{\zeta_{n_1-1} (\ell_2, \dots, n - \ell_{h-1} - 1) \zeta_{n_1-1} (k_2, \dots, k_r)}{n_1^{\ell_1}}.$$

In order to further simplify S we will use finite versions of the stuffle identities, see e.g. Borwein et al. [7] and Costermans et al. [9]. In general, stuffle identities provide evaluations of products of multiple zeta values $\zeta(\mathbf{k})\zeta(\mathbf{h})$ into sums of multiple zeta values $\zeta(\mathbf{k})\zeta(\mathbf{h}) = \sum_{\mathbf{f} \in \text{stuffle}(\mathbf{k}, \mathbf{h})} \zeta(\mathbf{f})$; here $\zeta(\mathbf{k}) = \zeta(k_1, \dots, k_r)$

and $\zeta(\mathbf{h}) = \zeta(h_1, \dots, h_s)$. For the simplification of S we use finite versions of the stuffle identities, providing evaluations of products of finite multiple zeta values $\zeta_N(\mathbf{k})\zeta_N(\mathbf{h})$ into sums of finite multiple zeta values $\zeta_N(\mathbf{k})\zeta_N(\mathbf{h}) = \sum_{\mathbf{f} \in \text{stuffle}(\mathbf{k}, \mathbf{h})} \zeta_N(\mathbf{f})$.

Following [7] we define for two given strings $\mathbf{k} = (k_1, \dots, k_r)$ and $\mathbf{h} = (h_1, \dots, h_s)$ the set stuffle(\mathbf{k}, \mathbf{h}) as the smallest set of strings over the alphabet \mathcal{A} , defined by

$$\mathcal{A} = \{k_1, \dots, k_r, h_1, \dots, h_s, "+", ", ", ", "(", ")"\}$$

satisfying $(\mathbf{k}, \mathbf{h}) = (k_1, \dots, k_r, h_1, \dots, h_s) \in \text{stuffle}(\mathbf{k}, \mathbf{h})$ and further if a string of the form $(U, k_n, h_m, V) \in \text{stuffle}(\mathbf{k}, \mathbf{h})$, then so are the strings $(U, h_m, k_n, V) \in \text{stuffle}(\mathbf{k}, \mathbf{h})$ and $(U, k_n + h_m, V) \in \text{stuffle}(\mathbf{k}, \mathbf{h})$. Stuffle identities arise from the definition of (finite) multiple zeta values in terms of sums; the term *stuffle* derives from the manner in which the two upper strings are combined. Other closely related identities are due to different representations of multiple zeta values (see for example [7]). We will use the following result of Costermans et al. [9].

Lemma 1. (Stuffle identity; finite version [9]) Let $\zeta_N(\mathbf{k}) = \zeta_N(k_1, \ldots, k_r)$ and $\zeta_N(\mathbf{h}) = \zeta_N(h_1, \ldots, h_s)$, with $N, r, s \in \mathbb{N}$ and $k_i, h_j \in \mathbb{N}$, $1 \leq i \leq r$, $1 \leq j \leq s$. Then,

(4)
$$\zeta_N(\mathbf{k})\zeta_N(\mathbf{h}) = \sum_{\mathbf{f} \in \text{stuffle}(\mathbf{k}, \mathbf{h})} \zeta_N(\mathbf{f}).$$

REMARK 1. A few examples of finite stuffle identities are given below, assuming that

 $r, s, t, N \in \mathbb{N}$

$$\zeta_N(r)\zeta_N(t) = \zeta_N(r,t) + \zeta_N(t+r) + \zeta_N(t,r),
\zeta_N(r,s)\zeta_N(t) = \zeta_N(r,s,t) + \zeta_N(r,s+t) + \zeta_N(r,t,s) + \zeta_N(r+t,s) + \zeta_N(t,r,s).$$

REMARK 2. The finite stuffle identity can be shown using algebraic methods, see Coster-Mans et al. [9]; we also refer to the work of HOFFMAN [12]. Alternatively, an elementary proof can be carried out using induction with respect to the total length $|\mathbf{k}| + |\mathbf{h}|$ of $\zeta_N(\mathbf{k})$ and $\zeta_N(\mathbf{h})$. The stuffle identity and the stuffle algebra was studied algorithmically in [6].

Next we provide the evaluation of S into sums of finite multiple zeta values.

Lemma 2. The product $S = S_{n_1}(n, k_2, \dots, k_2) = \zeta_{n_1}^*(\{1\}_{n-1})\zeta_{n_1-1}(k_2, \dots, k_r)$ of multiple zeta (star) values can be evaluated into sums of finite multiple zeta values:

$$S = \sum_{h=1}^{n-1} \sum_{1 \le \ell_1 < \ell_2 < \dots < \ell_{h-1} < n-1} \sum_{\mathbf{f} \in \text{stuffle}(\ell_n^{[1]}, \mathbf{k})} \zeta_{n_1 - 1}(\mathbf{f})$$

$$+ \sum_{h=1}^{n-1} \sum_{1 \le \ell_1 < \ell_2 < \dots < \ell_{h-1} < n-1} \frac{1}{n_1^{\ell_1}} \sum_{\mathbf{f} \in \text{stuffle}(\ell_n^{[2]}, \mathbf{k})} \zeta_{n_1 - 1}(\mathbf{f}),$$

with
$$\ell_n^{[1]} = (\ell_1, \ell_2 - \ell_1, \dots, n - \ell_{h-1} - 1), \ \ell_n^{[2]} = (\ell_2, \ell_3 - \ell_2, \dots, n - \ell_{h-1} - 1), \ and \mathbf{k} = (k_2, \dots, k_r).$$

Proof. For the simplification of S we apply the stuffle identity of Lemma 1 to all values of the form $\zeta_{n_1-1}(\ell_n^{[1]})\zeta_{n_1-1}(\mathbf{k})$ and $\zeta_{n_1-1}(\ell_n^{[2]})\zeta_{n_1-1}(\mathbf{k})$, as occurring in the representation of S in (3), and obtain the stated result.

Now we can state the explicit evaluation of $\xi_{k_1,\ldots,k_r}(n)$.

Theorem 3. For $k_1, \ldots, k_r, n \in \mathbb{N}$ the function $\xi_{k_1, \ldots, k_r}(n)$ can be evaluated into sums of multiple zeta values,

$$\xi_{k_1,\dots,k_r}(n) = \sum_{h=1}^{n-1} \sum_{1 \le \ell_1 < \ell_2 < \dots < \ell_{h-1} < n-1} \sum_{\mathbf{f} \in \text{stuffle}(\ell_n^{[1]}, \mathbf{k})} \zeta(k_1 + 1, \mathbf{f})$$

$$+ \sum_{h=1}^{n-1} \sum_{1 \le \ell_1 < \ell_2 < \dots < \ell_{h-1} < n-1} \sum_{\mathbf{f} \in \text{stuffle}(\ell_n^{[2]}, \mathbf{k})} \zeta(k_1 + 1 + \ell_1, \mathbf{f}),$$

with
$$\ell_n^{[1]} = (\ell_1, \ell_2 - \ell_1, \dots, n - \ell_{h-1} - 1), \ \ell_n^{[2]} = (\ell_2, \ell_3 - \ell_2, \dots, n - \ell_{h-1} - 1), \ and \mathbf{k} = (k_2, \dots, k_r).$$

Proof. By Theorem 2 we have

$$\xi_{k_1,\dots,k_r}(n) = \sum_{n_1 \ge 1} \frac{\zeta_{n_1}^*(\{1\}_{n-1})\zeta_{n_1-1}(k_2,\dots,k_r)}{n_1^{k_1+1}} = \sum_{n_1 \ge 1} \frac{S_{n_1}(n,k_2,\dots,k_r)}{n_1^{k_1+1}}.$$

By Lemma 2 we obtain further

$$\xi_{k_1,\dots,k_r}(n) = \sum_{n_1 \ge 1} \frac{1}{n_1^{k_1+1}} \left(\sum_{h=1}^{n-1} \sum_{1 \le \ell_1 < \ell_2 < \dots < \ell_{h-1} < n-1} \sum_{\mathbf{f} \in \text{stuffle}(\ell_n^{[1]}, \mathbf{k})} \zeta_{n_1-1}(\mathbf{f}) + \sum_{h=1}^{n-1} \sum_{1 \le \ell_1 < \ell_2 < \dots < \ell_{h-1} < n-1} \frac{1}{n_1^{\ell_1}} \sum_{\mathbf{f} \in \text{stuffle}(\ell_n^{[2]}, \mathbf{k})} \zeta_{n_1-1}(\mathbf{f}) \right).$$

Interchanging summations leads to the stated result.

REMARK 3. Although the result of Theorem 3 is very involved, in can be used to obtain simple expressions for $\xi_{k_1,...,k_r}(n)$ for small n and r:

$$\xi_{k_1,k_2}(2) = \zeta(k_1 + 2, k_2) + \zeta(k_1 + 1, 1, k_2) + \zeta(k_1 + 1, k_2 + 1) + \zeta(k_1 + 1, k_2, 1),$$

$$\xi_{k_1,k_2,k_3}(2) = \zeta(k_1 + 1, 2, k_2, k_3) + \zeta(k_1 + 1, 1, k_2, k_3) + \zeta(k_1 + 1, k_2 + 1, k_3)$$

$$+ \zeta(k_1 + 1, k_2, 1, k_3) + \zeta(k_1 + 1, k_2, k_3 + 1) + \zeta(k_1 + 1, k_2, k_3, 1).$$

The results above can be used for the evaluation of $\xi_{k_1,k_2}(2), \xi_{k_1,k_2,k_3}(2)$ for particular choices of $k_1, k_2, k_3 \in \mathbb{N}$ using previous evaluations of multiple zeta values with two, three or four parameters in the literature [8]. Note that there exists evaluations of multiple zeta values up to weight 22, see [5], which can be used for further simplification. Moreover, many calculations can be carried out algorithmically by using computer algebra systems, see [1] and the references therein.

4. AN EVALUATION INTO MULTIPLE ZETA STAR VALUES

In the case of $k_1, \ldots, k_r \in \mathbb{N} \setminus \{1\}$ and $n \in \mathbb{N}$ the function $\xi_{k_1, \ldots, k_r}(n)$ can be evaluated into products of multiple zeta values and multiple zeta star values.

Theorem 4. For $k_1, \ldots, k_r \in \mathbb{N} \setminus \{1\}$ and $n \in \mathbb{N}$ we have

$$\xi_{k_1,\dots,k_r}(n) = \sum_{j=1}^r (-1)^{j+1} \zeta(k_{j+1},\dots,k_r) \zeta^*(k_j,k_{j-1},\dots,k_2,k_1+1,\{1\}_{n-1}),$$

according to the conventions $\zeta(k_{r+1},...,k_r) = 1$ in the case of j = r and $\zeta^*(k_1,k_0,...,k_2,k_1+1,\{1\}_{n-1}) = \zeta^*(k_1+1,\{1\}_{n-1})$ in the case of j = 1.

Proof. By Theorem 2 we get

$$\xi_{k_1,\dots,k_r}(n) = \sum_{n_1 \ge 1} \frac{\zeta_{n_1}^*(\{1\}_{n-1})\zeta_{n_1-1}(k_2,\dots,k_r)}{n_1^{k_1+1}}$$
$$= \sum_{n_1 > 2} \frac{\zeta_{n_1}^*(\{1\}_{n-1})}{n_1^{k_1+1}} \sum_{j=1}^{n_1-1} \frac{\zeta_{j-1}(k_3,\dots,k_r)}{j^{k_2}}.$$

Interchanging summation gives

$$\xi_{k_1,\dots,k_r}(n) = \sum_{j\geq 1} \frac{\zeta_{j-1}(k_3,\dots,k_r)}{j^{k_2}} \sum_{n_1\geq j+1} \frac{\zeta_{n_1}^*(\{1\}_{n-1})}{n_1^{k_1+1}}$$

$$= \zeta(k_2,\dots,k_r)\zeta^*(k_1+1,\{1\}_{n-1}) - \sum_{j\geq 1} \frac{\zeta_{j-1}(k_3,\dots,k_r)}{j^{k_2}} \sum_{n_1=1}^j \frac{\zeta_{n_1}^*(\{1\}_{n-1})}{n_1^{k_1+1}}$$

$$= \zeta(k_2,\dots,k_r)\zeta^*(k_1+1,\{1\}_{n-1}) - \sum_{j\geq 1} \frac{\zeta_{j-1}(k_3,\dots,k_r)\zeta_j^*(k_1+1,\{1\}_{n-1})}{j^{k_2}}.$$

Similarly, we obtain

$$\xi_{k_1,\dots,k_r}(n) = \zeta(k_2,\dots,k_r)\zeta^*(k_1+1,\{1\}_{n-1}) - \zeta(k_3,\dots,k_r)\zeta^*(k_2,k_1+1,\{1\}_{n-1}) + \sum_{j>1} \frac{\zeta_{j-1}(k_4,\dots,k_r)\zeta_j^*(k_2,k_1+1,\{1\}_{n-1})}{j^{k_3}};$$

This reasoning (repeated interchangement of summations) gives the stated result. \Box

One can convert the multiple zeta star values appearing in Theorem 4 to ordinary multiple zeta values using (1). This gives an alternative evaluation of $\xi_{k_1,...,k_r}(n)$ into multiple zeta values. We obtain the following result.

Corollary 1. For $k_1, \ldots, k_r \in \mathbb{N} \setminus \{1\}$ and $n \in \mathbb{N}$ we have

$$\begin{split} \xi_{k_1,\dots,k_r}(n) &= \sum_{j=1}^r (-1)^{j+1} \zeta(k_{j+1},\dots,k_r) \\ &\times \sum_{h=1}^{n+j-1} \sum_{1 \leq \ell_1 < \ell_2 < \dots < \ell_{h-1} < n+j-1} \zeta \left(\sum_{i_1=1}^{\ell_1} m_{i_1}, \sum_{i_2=\ell_1+1}^{\ell_2} m_{i_2},\dots, \sum_{i_h=\ell_{h-1}+1}^{n+j-1} m_{i_h} \right) \\ & \text{with } m_1 = k_j,\dots,m_{j-1} = k_2, m_j = k_1+1, \text{ and } m_g = 1 \text{ for } j < g \leq n+j-1 \text{ in } \\ & \text{the sum } \zeta \left(\sum_{i_1=1}^{\ell_1} m_{i_1}, \sum_{i_2=\ell_1+1}^{\ell_2} m_{i_2},\dots, \sum_{i_h=\ell_{h-1}+1}^{n+j-1} m_{i_h} \right). \end{split}$$

Acknowledgements. The author thanks the referees for valuable remarks improving the presentation of this work, and also for providing additional references.

REFERENCES

- J. Ablinger: A computer algebra toolbox for harmonic sums related to particle physics. Diploma thesis, RISC, Johannes Kepler Univ., 2009.
- T. Aoki, Y. Ohno: Sum relations for multiple zeta values and connection formulas for the Gauss hypergeometric functions. Publ. Res. Inst. Math. Sci., 41 (2) (2005), 329–337.

- 3. T. Arakawa, M. Kaneko: Multiple zeta values, poly-Bernoulli numbers, and related zeta functions. Nagoya Math. J., 153 (1999), 189–209.
- J. Blümlein, S. Kurth: Harmonic sums and Mellin transforms up to two-loop order. Phys. Rev. D, 60 (1999), 014018.
- 5. J. Blümlein., D. J. Broadhurst, J. A. M. Vermaseren: *The Multiple Zeta Value Data Mine*. Comput. Phys. Comm., to appear.
- J. A. M. VERMASEREN: Harmonic sums, Mellin transforms and integrals. Int. J. Mod. Phys. A, 14 (1999), 2037–2976.
- J. M. Borwein, D. M. Bradley, D. J. Broadhurst, P. Lisonek: Special values of multidimensional polylogarithms. Trans. Amer. Math. Soc., 353 (2001), 907–941.
- 8. J. M. BORWEIN, ROLAND GIRGENSOHN: Evaluation of Triple Euler Sums. Electron. J. Combin., 3 (1) (1996), #R23. With an appendix by DAVID J. BROADHURST
- C. Costermans, J. Y. Enjalbert, N. M. Hoang, M. Petitot: Structure and asymptotic expansion of multiple harmonic sums. Proceedings of the ISSAC 2005, 100–107.
- 10. M. Eie, W. C. Liawa, Y. L. Ong: A restricted sum formula among multiple zeta values. Journal of Number Theory, 129 (2009), 908-921.
- 11. M. E. HOFFMAN: Multiple harmonic series. Pacific J. Math., 152 (2) (1992), 275-290.
- 12. M. E. HOFFMAN: Quasi-shuffle products. J. Algebraic Combin., 11 (2000), 49–68.
- 13. S. Muneta: On some explicit evaluations of multiple star-zeta values: J. Number Theory, 128 (2008), 2538–2548.
- Y. Ohno: A Generalization of the Duality and Sum Formulas on the Multiple Zeta Values. J. Number Theory, 74 (1999), 39–43.
- 15. Y. Ohno, J. I. Okuda: On the sum formula for the q-analogue of non-strict multiple zeta values. Proceedings of the AMS, 135 (10) (2007), 3029-3037.
- Y. Ohno, N. Wakabayashi: Cyclic sum of multiple zeta values. Acta Arith., 123
 (2006), 289–295.
- 17. Y. Ohno, W. Zudilin: Zeta stars. Commun. Number Theory Phys., $\mathbf{2}$ (2008), 325–347.

Institut für Diskrete Mathematik und Geometrie, (Received September 16, 2009) Technische Universität Wien, (Revised January 26, 2010) Wiedner Hauptstr. 8-10/104,

1040 Wien, Austria

E-mail: kuba@dmg.tuwien.ac.at